Practice

Name ,
7-4A

Number Sense: Decimal
Multiplication

For 1-8 only two numbers of the product are shown. Also, the
decimal point is missing. Complete the product and place
the decimal point where it should be. Round your answer to
the nearest hundredth.

1. 04%x06= 24 5.02%x08= 16
2. 3.6 %X 4.1 = 14 76 6. 4.04 X 3 = 12 |2
3.901x83= 74 765 7. 116x34= 39 44
4. 406x201= 810600 8. 78x01= 738

For 9-12 complete the operation and explain why you placed the
decimal point where you did.

9. 1.8 X083 =

10. 0.2 X 0.7 =

11. 124 X 31 =

12. 9.5 X3 =
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Name: Basic Facts
Addition
9+8= 6+11= 8+6 = 9+12=
8+8= 4+1= 8+0= 4+7=
2+7= 3+4= 11+8= 7+6=
10 +10 = 2+8= 1+2= 1+4=
5+9= 1+1= 4+6= 5+12=
3+8= 0+56= 3+1= 9+11 =
11+11= 12+ 8 = 6+8= 3+6=
6+10= 11+11 = 9+3= 6+5=
1+9= 10+2= 9+10= 1+3=
8§+12= 9+56= 12+5= 4+11=
7+11= 7+8= 2+9= 11+10 =
1+1= 6+12= 5+3= 2+5=
9+0= 5+2= 4+10 = 9+3=
4+12= 4+5= 7+5= 0+2=
2+2= 3+9= 10+12 = 7+10 =
10+ 1= 2+3= 0+7= 11+9=
5+0-= 1+6= 0+1= 5+4-=
12+ 3 = 9+9= 3+5= 8+2=
7+2= 8§+0= 6+0= 2+1=
5+1= 7+3= 6+7= - 6+9=
0+4= 6+6= 9+2= 0+8=
8+3= 5+10= 12+9= 4+3=
3+2= 4+0= 2+3= 8+1-=
1+5= 3+3= 1+7= 2+9=
9+4-= 1+7= 4+2= 5+8=
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